## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving and Accepting the Donation by the United States Air Force and Army of an M-60 Tank for the Veterans Memorial Park in Sells)

RESOLUTION NO. 02-174

1	WHEREAS,	the Tohono O'odham Nation ("Nation") Veterans Affairs Office has requested			
2		assistance from the United States Air Force in obtaining suitable military display			
3		equipment for the Veterans Memorial Park in Sells; and			
4	WHEREAS,	officials at Luke Air Force Base have obtained an M-60 tank which is being prepared			
5		for donation to the Nation; and			
6	WHEREAS,	the United States Air Force has arranged for demilitarization of the tank and for			
7		transportation of the tank to Sells; and			
8	WHEREAS,	after transportation of the M-60 tank to Sells, the Nation is required to assure the			
9		United States that the Nation will: (1) take responsibility for the upkeep and safety of			
10		the tank; (2) provide a Certificate of Assurance of Compliance with Title 6 of the			
11		federalCivilRightsActstatingthattherecipientofthedonationwillnotdiscriminate			
12		on grounds of race, color, national origin, sex or handicap in any activity associated			
13		with the donation; (3) will sign a Conditional Deed of Gift that will outline the Nation's			
14		$responsibilities \ for\ retention\ and\ maintenance\ and\ certain\ condition (s)\ to\ retain\ the$			
15		tank and will convey conditional title of the tank to the Nation; and (4) will submit an			
16		Annual Certification Form to the Donation Office of the United States Army stating			
17		that the Nation is properly maintaining the M-60 tank and wishes to retain it; and			
18	WHEREAS,	this proposal has been reviewed by the Human Resources Development Committee			
19		of the Legislative Council, which recommends approval by the full Legislative			
20		Council.			
21	NOW , THEREFORE BE IT RESOLVED that the Tohono O'odham Legislative Council:				
22		${\bf 1.}  \textbf{Approves and accepts the donation of the M-60 tank by the United States Air Force}$			
23		and Army.			
24		2. Agrees that the Nation, acting through the Chairman of the Nation and the			
25		Veterans Affairs Office, will take responsibility for the upkeep and safety of the			
26		tank.			
27		3. Authorizes the Chairman of the Nation to sign the Certificate of Assurance of			
28	I	Compliance with Title 6 of the federal Civil Rights Act.			

RESOLUTION NO. <u>02-174</u> (Approving and Accepting the Donation by the United States Air Force and Army of an M-60 Tank for the Veterans Memorial Park in Sells) Page 2 of 3 4. Authorizes the Chairman of the Nation to sign the Conditional Deed of Gift provided by the United States Army. 5. Authorizes the Chairman of the Nation or his designated representative to sign an Annual Certification Form regarding the maintenance of the tank. The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 05th.Day of APRIL, 2002 at a meeting at which a quorum was present with a vote of 2,417.5 FOR; -0- AGAINST; -0-NOT VOTING; and [05] ABSENT, pursuant to the powers vested in the Council by Section 1 (f) & (i) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary -Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL ATTEST: 11 H day of April , 20 02.

 TOHONO O'ODHAM LEGISLATIVE COUNCIL

Rita A. Martinez, Legislative Chairwoman

	RESOLUTION NO. <u>02-174</u>											
	Approving and Accepting the Donation by the United States Air Force and Army of an M-60 Tank for the											
	Veterans Memorial Park in Sells) Page 3 of 3											
	rage 3 01 3	The p. 1										
1	[ X APPROVED	on the 15 day of 150, 2009  at 4:32 o'clock, .M.										
2		,200										
3	[ ] DISAPPROVED	at 4'59 ciclosis & N										
4	[ ] DISAFFROVED	at 100 october, 1 .M.										
5		The Manual of the second of th										
6	EXCEEDED 48 HOURS	Hung Sully										
7	10 1100/10	EDWARD D. MANUEL, Chairman										
8		TOHONO O'ODHAM NATION										
9												
10												
[1												
12		dd										
13	Returned to the Legislative Secre	tary on the _/// day of										
14												
15	(1 sril .20 02 .	at <u>8:04</u> o'clock, <u>#</u> .M.										
16												
17												
18	Guille Yake In											
19	Julianna Saraficio, Acting Legisla	tive Convetere										
	julianna Sarancio, Acting Legisia	tive Secretary										
20												
21												
22												
23												
24												
25												
26												
27												
28												
29												
30												
31												
32												
33												
34												
35												
36												
37												
38												
39												
40												
41												
42												
43												
44												
l												

ACTION: APPROVING AND ACCEPTING THE DONATION BY THE UNITED STATES AIR FORCE AND ARMY OF AN M-

60 TANK FOR THE VETERANS MEMORIAL PARK IN SELLS

MOVED: COUNCILWOMAN FERN SALCIDO SECOND: COUNCILMAN ISIDRO LOPEZ

DATE: APRIL 05, 2002

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL	158.85	х			Х
317.7	( ) 2. FRANCES G. ANTONE (Lucilda Norris-Valenzuela)	158.85	x			
CHUKUT KUK	KENNETH WILLIAMS     (Juanita Homer)	124.05	x			X
248.1	2. DAVID GARCIA (Mary Audrey Juan)	124.05	x			
GU ACHI	CAMILLUS LOPEZ     (     )	115.35	x			
230.7	2. ALEX J. RAMON (Jerome Joaquin)	115.35	x			
GU VO	1. FERN SALCIDO	94.15	x			
188.3	2. EMILIO LEWIS (Michael Flores)	94.15	X			
HICKIWAN	1. SHIRLEY MOLINA	83.65	x			
167.3	2. SANDRA ORTEGA  ( )	83.65	x			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	87.35	x			x
174.7	2. PATRICIA CRUZ (Johnson Jose)	87.35	x			
SAN LUCY	1. ALBERT MANUEL, JR. (John W. Lawson, Sr.)	80.35	x			x
160.7	2. GLORIA RAMIREZ	80.35	x			
SAN XAVIER	1. TONY ENCINAS	92.35	x			
184.7	2. DENNIS RAMON	92.35	Х			x
SCHUK TOAK	1. MARY FLORES	72.25	x			
144.5	2. AMBROSE ENCINAS** (Frances B. Conde(Francisco))	72.25	x			
SELLS	1. DENNIS E. JOSE	208.05	x			
416.1	2. EVELYN JUAN ( )	208.05	x			
SIF OIDAK	1. ISIDRO LOPEZ	92.35	x			
184.7	2. RITA MARTINEZ (Nicholas Jose)	92.35	x			
1	TOTAL	2,417.5	2,417.5	-0-	-0-	[05]

<sup>\*\*</sup>PASSED VOTES